NOTES:

1.

UL LISTED UL508A. UL FILE #E194432

8

=
DETAIL E
SCALE2: 1

GASKET

3 2 1
BOM Table
ITEM NO. |PART NUMBER |Rev. |Description Material Color |QTY.
1 SA-43B-01 - |BASE, HINGED 304SST NATURAL | 1
2 SA-43C-01 - |COVER, HINGED 3043ST NATURAL | 1
3 SB-43P - IMOUNTING PANEL Zinc-Plated Steel - 1
4 SB-01FK-01 - |[FLANGEKIT 1
4.1 SB-01F-01 - |IMTG. FLANGE 430 SST - 4
4.2 SCREWS-040 M10 x 1.5 x 20 HEX HEAD SCREW SST 4
4.3 N-003 M10x1.5 HEX NUT SST 4
4.4 W-005 - |SEALING WASHER NEOPRENE BLACK 4
4.5 W-006 M10 FLAT WASHER SST 4
4.6 W-007 M10 SPRING LOCK WASHER SST 4
5 SB-PIN-01 - |HINGE PIN 201 SST - 2
6 SB-RR-01 RETAINING RING SST 2
7 SB-GK-02 - |GROUND WIRE & KEY KIT 1
7.1 SB-KEY-01 - |[LATCHKEY - 1
7.2 SB-WIRE-O1 - |GROUND WIRE - 1
7.3 W-010 Mé WASHER SST SST 4
7.4 W-011 Mé SPRING LOCK WASHER, SST SST 2
7.5 N-005 Méx1.0 HEX NUT, SST SST 2
8 SB-HP-01 - |[HOLEPLUG NEOPRENE  |LIGHT GRAY| 4
9 W-008 M8 FLAT WASHER SST 4
10 W-009 M8 SPRING LOCK WASHER SST 4
11 N-004 M8x1.25 HEX NUT SST 4
12 SB-01L-02 - |LATCH ASSEMBLY 2
12.1 SB-01LB-02 - |LATCH BODY SST NATURAL | 1
12.2 SB-01LN-02 - |LATCH NUT SST 1

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: :r-n'm SA-43-01
TWO PLACE DECIMAL: - MATER|AL
THREE PLACE DECIMAL: #-
oo RINTED GRAPHCS: & T 50 2451235 .54 OH FATE 410154 088
THE INFORMATION CoNTANED NTHS |~ FLAME RATING SIZE SA ENCLOSURE, 304SST, REV
DRAWING IS THE SOLE PROPERTY OF HINGED DOOR, W/PANEL,
POLYCASE. ANY REPRODUCTION IN PART NANE SATE ‘ NATURAL -
- OR AS A WHOLE WITHOUT THE WRITTEN
REV.] DESCRIPTION [ZONE[ BY [APPRD|] DATE PERMISSION OF POLYCASE IS PROHIBITED.  DRAWN | D.M.F. = 2/7/2018 SCALE: 1:2.5 SHEET 1 OF 2
REVISIONS CAD FILE: SA-43 CHECKED = C.C.B. 2/12/2018 R
4 3 2 1




- =
- 13.976[355] - — 794[20.17] TYP.
[~ - - (12.520(318]) - [ c 060[1.52]
! - | 2 v [ B
1 ' i |.H HM |' iR A
B l“', ‘u‘\' {‘. I ‘ll[“i r' . L‘H B _V
“I Wi i ! ‘,' A_
—=Eu = Lo == == = == — - P
(T80 TA A 1 ‘IU‘.
.‘I' ‘--i“ \ 1 h.l\l:‘:.: I"" |
] LN ) L 5‘_12." k \
\ "'{ Illl - ) i
Gl
ik (i
| L ',"i :hr'* l I
WLt I
P W } HL"I‘ * !
it
AR R
U “'{ i
i Mgy
(16.943[430.3¢] ) ' il } i
1} | I I\ | N{‘ ik ““\
15.748(400] P T 12795(325]
"‘ AT !'il il
I il i ‘M "FI' A
W .‘.‘ * I
..‘ i I "} l e‘h’ i\ .‘
‘l'\ | Hill 4 1
Ay - M’. A
| I 1 | h‘ { ! ‘ "
WA WG f
i st
] ‘I“ :|'\‘
I il
! | L‘, I il
i :I'L‘
e b i R 1
| I't ‘.Il‘i‘\
(') L‘I | “III.“
V i [
1 - — . . . 060[1.52] D | - 11.024[280] T e 25 x
X 1.
J o= a2fi097] 374[9.50] SECTION D-D 20mm WELD STUD
682[17.32] ' ' " 650[17.53] = 7.053[179.14] —————=—
SECTION A-A
GROUND STUD:
Méx1.0 X 16mm 1.813[46.04]—| o oaD: 18134604 =——=
B —
| ."l‘ "“laf HH"’JM '}.j .
1.563[39.69] | H»r."‘w:-'.“.‘--M.-'“Jd.a. j
| il m"l ‘ ‘ “II
{ ‘ ‘. '. 1 ‘I||'|‘ ‘illl‘l “ ‘H\F’J
! .:h;i_fh,w ATl
i \ .‘h" (N Hw* \JW
il L ' [
(T *‘_ il l'NJ dl’f FOLLOW ASSEMBLY ORDER &
R t "l TORQ TO 20 IN.-LBS TO MAINTAIN
o \" ! UL RATING
(7.875[200.03]) N o, i, |r"|
. . I Wi |r A
‘ d \,u H)[I\H ,{llrJﬂJ“ﬁ( |'|J|f
I,\ I ] ‘ “Ill‘| :.,‘.1 |Mhll |“ I| 'J IN" ‘L“"“ #“ll @
GG ‘-“.,uii.« .;
+ W S T A L '|.|}|N, I @
(448[11.38]) | @
- =1 1.812[46.02] SECTION B-8 ®
SECTION C- C
SCALE 1:
UNLESS OTHERWISE SPECIFIED: PART NO.
e hees A e ™ SA-43-01 e ase
TWO PLACE DECIMAL:':;_ MATER'AL p _
THE INFORMATION CONTAINED IN THIS FLAME RAT'NG SlZE SA ENCLOSURE 304SST REV
DRAWING IS THE SOLE PROPERTY OF HINGED DOOR, W/PANEL,
POLYCASE. ANY REPRODUCTION IN PART NAME -~ DATE NATURAL -
REV.] DESCRIPTION [ZONE[ BY [APPRDI DATE | peissoN OF POLYCASE | PRONBIED.  DRAWN | DMF. | 2/7/2018 SCALE 125  SHEET20F2

REVISION‘S CAD FILE: 5A-43 CHECKED | C.C.B. 2/12/2018

8 7 6 5 ‘T\ 4 3 | 2




8 7 5 . 4 3 2
@ .250[6.35] TYP.
492[12.50] TYP. — 14.370[365] — —4XR.197[5]
I _l @ .344[8.74] TYP.

I

B
.984[25] TYP.
12.008[305]

#

4X 1.125[28.58] —

2X 1.476(37.49]

A +

Y

2X .472[11.99] J

.125[3.18] TYP.—~
410[10.41] —=

.787[20]

}

2X 1.760[44.70]

}

2X .984[25]

.143[3.63] TYP.

45° TYP.

\

——

~—4X .410[10.41]

.125[3.18] TYP.

.078[1.98]

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #-°
TWO PLACE DECIMAL: #-
THREE PLACE DECIMAL: -
PRINTED GRAPHICS: #-

PART NO.
SB-43P

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

MATERIAL
Zinc-Plated Steel

FLAME RATING

SIZE MOUNTING PANEL

| ) 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.

PH#: 1-800-248-1233, 440-934-0444 FAXH: 440-934-0088

REV

POLYCASE. ANY REPRODUCTION IN PART NAME DATE
- OR AS A WHOLE WITHOUT THE WRITTEN
REV.] DESCRIPTION [ZONE[ BY [APPRD|] DATE PERMISSION OF POLYCASE IS PROHIBITED. | DRAWN D.M.F.  5/9/2017 SCALE: 1:2 ‘ ‘ SHEET 1 OF 1
REVISIONS CAD FILE: SB-43P CHECI‘<ED C.C.B. | 6/1/2017 s ‘ @G
i
5 4 3 2 1



	Sheet1
	Drawing View5
	Drawing View7
	Detail View E (2 : 1)

	Sheet2
	Drawing View1
	Section View A-A
	Section View B-B
	Section View C-C
	Section View D-D

	SB-43P.pdf
	Sheet1
	Drawing View1
	Drawing View2



